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STUDY CENTRE

SUBJECTWISE ANALYSIS & CATEGORIZATION OF QUESTIONS

SUBJECTS NUMBER OF QUESTIONS
POLITY 8
HISTORY 17
GEOGRAPHY 5
ECONOMICS 12
BOTANY 4
ZOOLOGY 3
PHYSICS 4
CHEMISTRY 4
GENERAL KNOWLEDGE 7
CURRENT AFFAIRS 11
MATHS 25
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101.

102.

103.

104.

105.

106.

POLITY

Which one is not part of the Panchayat Raj?

a. Smiti b. Village c. Township d. Zila Parishad
bd W LEhFTUSH JTTRUWSHH60 Be0enev?
a. &g b. &ymoid C. &M d. sfevevr uMansd

Which part of the Indian Constitution deals with Fundamental Duties?

a. Part II b. Part III c. Part IV A d. Part V

Bbhaul SIFFwevemLolIL 60 SlglILenL & HL_MLDH6IT Q115 UG&&Huiled
eI(hHSHIMTHSLILL (heiTerng?

a. ures 11 b. ursb III c. utetb IVA d. ute V

The institution of Lok-Ayukta was established first in the state of

a. Gujarat b. Maharashtra c. Rajasthan d. Kerala
GouTd- BT (LPFHET (WHeVIL 61hG LOTHIEVSHHD DIGNLOSHSBLILIL L GI7
a. GMUTSH b. smyradigyb C. [JME6NOHIT6IT d. Gayen

Who said “The Directive Principle of State Policy is a Novel feature” of the Indian
constitution?

a. K.T. Shah b. B.R. Ambedkar

c. Aladi Krishnaswamy Ayyar d. B.N. Rao

@b oflwueumoliled “os eubaTi B Opmi(wemBs CETaTImnd @T 2 6iIeIHLomeT
L6’ 6Tl Snpsluigyl wimir?

a. K.T. agr b. B.R. oubBugsit

C. OV H(HOGeIFTIO  SIUILIT d. B.N. gmei

The members of the Central Administrative Tribunal are given status of Judges of
High Court from an Amendment in the year

a. 2003 b. 2004 c. 2005 d. 2006

wHHW  Hrumw o mlemeseEndd 2 WIHHILSB  BHHUHSSTE  DbHerogl
QUPRISILULL FUL FHmHHD CoBosmeTeniul’ L o e

a. 2003 b. 2004 c. 2005 d. 2006

Which one of the following Parliamentary Committee is Semi-Judicial in nature?
a. Committee on Petitions b. Ethics Committee
c. Committee on Privileges d. Rules Committee

SDHHEWIL.  LMITEHONIBS  GpSHeled 6bhd @b W urdh pbFH  uflumevet
HEIENLOU|eDL_UIG]?

a. eleiemTILG G(1p b. opopis Gw
c. dpuyflenwod @& d. algls &w
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107.

108.

109.

110.

111.

112.

The idea of concurrent list was borrowed from

a. British Constitution b. Canadian Constitution
c. Irish Constitution d. Australian Constitution
QUTEIL UL IQuIed 6TID H(HGHSH GUBLILILL G

a. @miglevnhHler SIFFwevemolIeO(HbHSH

b. seai_raler oyfluicvantoii el mhHei

C. HIWITEUMTHGleT DIFluwieuamolILed(hHbHS

d. o gCrelwimalet oyydlwieveniori el mbal

In which year the Parliament enacted the Official Language Act?

a. 1955 b. 1965 c. 1963 d. 1957

6b® QUBLLD LUTITEHLOGIBSHH L Digvieued OIomfl gL b SuimBpriil L gl?

a. 1955 b. 1965 c. 1963 d. 1957
HISTORY

The Portuguese Sailor who reached Calicut in 1498 A.D. was?

a. Do Almeida b. Vasco da Gama

c. Robert Clive d. Albuquerque

1498-0 oewiB HeiellHCHTmLdW SewL b CuITHHISS W oTeodl  wimiT?

a. 19 9ELOWUILT b. eumerb@amLsmiom

C. JUUTL. &lemerel d. seoysiTe

On behalf of the Justice Party, who won and formed the ministry in 1923 election?
a. T.N. Sivagnanam Pillai b. P. Thiyagaraja Chettiyar

c. T.M. Nair d. M.C. Raja

19239110 pewi® BHeoLouBp CxHTHedled BHss & griures Geuppd CuBp o Fenw
SIMLOSHSHAUT  WITT?

a. T.N. deuepmamd etemenr b, P. Hwmasyreg Q& iguimi

c. TM. mmu d. M.C. gmegr

Who was the founder of the Thiruchenkodu Ashram?
a. E.V. Ramasamy Naicker b. Rajaji

c. Gandhiji d. C.N. Annadurai
HHFCFHICHTH D FTHens HmieluieuT wimT?

a. F.Geugmogmd BTwSST b. gmegre)

C. MhH) d. C.N. sjemiewnimgieny

Annamalai University was started in the year

a. 1915 b. 1929 c. 1921 d. 1945
S|6ITEINTIDENGED  LIGDHMEVHBINHID TIDLISSIILL L &6
a. 1915 b. 1929 c. 1921 d. 1945
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113.

114.

115.

116.

117.

118.

119.

Which congress conference was attended by Bharatiyar?

a. Surat Conference b. Madras Conference

c. Bombay conference d. Lucknow conference
6bdH HMRISTEO LOTHTLIQEL UMFHWMT H6evbSHI ©OSBTewTLTiT?
a. @IS LIbBTH b. Qseiienen LOTHTH

C. ubumul omBT6H d. ev&GBerm THTH

Who extended co-operation to Puli Tevar?
a. The French b. The English

c. The Portuguese d. The Dutch
Le0HCHaUHDHG UHT6| OCBTHHHTHET WIMT?
a. U0yehaEsMyiTaHel b. eymdGeowisel
c. GuniTFaaAwiTasel d. L&sssnyimse

Who converted Mahendra Varma I from Jainism to Saivism?

a. Sambandar b. Appar c.Sundarar d. Perundevar
(PFHeVTD LCHHATUTOMET MM WGHHH(HHSH WFe HHHME rmsluleuT wImr?
a. FUbST b. 9T c. &HHHIT d. Qu@mBCHeuT

Name the chieftain who patronized Kabilar

a. Ay b. Adhiyan c. Pari d. Anji
slieveny allsg CurBplw FAbpreT Cuweemys GBIULIGS
a. oI b. &i8uwiest c. umfl d. &iehd

In which year Madras Mahajana Sabha was started?

a. 1881 b. 1882 c. 1883 d. 1884
b ewi(h OCFeaienet LHTMeT Feoll CHTBmIeNSSILL L GI7?
a. 1881 b. 1882 c. 1883 d. 1884

The Constituent Assembly of India was set up according to the proposals of
a. The Cripps Mission b. The Cabinet Mission Plan

c. The Mountbatten Plan d. The Nehru Plan

@phHw  SFwevemiolly  Hifewiwl Feou  WMHeLW  (petOomflaler  SigliLient uled
IBUGSSUILLLSI?

a. &filierd Weges b. Gzl ager LD

C. a6t Gu L a1 L 1D d. Grm FHLib

Where was the first Indian National Congress met?

a. Delhi b. Bombay c. Calcutta d. Madras
WHe0 @hHw CHAw sTmSFeriler Fnl LD 6IhIE dnlguidl?
a. GLsvel b. ubumul C. BELBHHT d. G eirenen
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120.

121.

122.

123.

124.

125.

The Forward Block Party was started by whom?

a. Subhash Chandra Bose b. Motilal Nehru

c. Rajaji d. Raja Ram Mohan Roy
Sumreu® Wenmés sl & wnmymed OHmLmIsLuL L g)?

a. aurey ghdy Gumerd b. Gurglevmed G

C. JTegmeg d. gregr gmb Guomesest Ul

Who assumed the title “Chittrakara Puli”?

a. Rajaraja | b. Narashima I

c. Mahendra Varman I d. Nandhi Varman
“feHATamriyel” e al(hadl OUWT @ULOUC L  D6STeNT Wm?
a. (LPSHEVMLD  JTEITTEI60T b. (pseomd Byfibioest
C. (PpHeUTLD  0BB[HITeUTLDGIT d. mHSHeuioest

Who started Home Rule Movement in India?

a. Annie Besant b. Sathiya Moorthi
c. E.V. Ramasamy d. K. Kamaraj
AhFHwnaled HeraT & QuibsHmd DJDLISSHT WTT?
a. el g6 b. s68w eprsHd)

c. F.afl. GuiflwmT d. . smograt

Tamil Books were printed firstly by whom?

a. Rev. Zieganbalg b. Rev. Schwartz

c. Rev. Grundler d. Robert De Nobili
(LS (PHeUTS SO LHSHBHISmeT DIFFLL 6T wimir?

a. FHEILT60EG SQUIT b. geunim’erd Lmgfluwimit
C. G(HEWIL 60 SQUIT d. gmum’ 9. GBMIed

Which Act provided Provincial Autonomy to India?

a. Rowlatt Act - 1919

b. Minto Morley Reform Act - 1909

c. The Government of India Act - 1935

d. Montagu - Chelmsford Reform Act - 1919

bd FULID @hHumeaIBEG WIHed FWT & DHBTTHDSH UDRISUISHI?
a. Qyemevl” &L LIb - 1919

b. Wer@Lr el SMFHmeHsh gD - 1909

C. @bHW SaFThs FULID - 1935

d. wrew@L @ Oawerd.".Buniih FTHmeHHF FLLID - 1919

Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?
a. Amar Singh  b. Kunwar Singh c.Pir Ali  d. Imaduddin
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126.

127.

128.

129.

18570  ouewihp  HeuBSHGHler  Burk  Spdbsewi  BUTHeMe0  UsmT Yyl dluler
QHRISIHETLILITONTTS  E(HHSHEUT WImiT?
a. oITHmI b. seteurt fm c. 15T 960 d. Bise e

GEOGRAPHY

Humboldt ocean current is otherwise known as

a. Kuroshio current b. Oyashio current

c. Peru current d. Florida current
anbBureol. HEITL LD Selaumprsald SBWLILGHBS
a. Grmagdwr BHGyT LD b. @uradGuir BGym LD
c. Quep BGyT LD d. yGenmfLm BGym L ib

‘Sea smoke’ is common in

a. Equatorial region b. Desert region

c. Atlantic ocean d. Arctic region

‘BLEL LB FTHTTCIOTS STt iiBeug

a. ywsHHwu Crews LG b. umeneveuer LIFGHaID

C. Sl eumemtigdh Guymd d. eyngs ugd

Name the place where the Rive Ganga and Yamuna joins?

a. Allahabad b. Hyderabad c. Delhi d. Agra
SHIMS LMID, WP SBID FHAHHGWD B SHSHleir Ot ereite?

a. SeLBTUTSH b. ewamsyTUTs C. GL6bsl d. eydym

Which of the following statements regarding soil are correct?
I.  Soil is a dynamic natural element.
II. Itis composed of both mineral and organic matter.
III.  The characteristics of soils depend on parent rock.
IV.  All the soils having a well developed soil profile
a. All are correct b. I, IT and III are correct
c., I and IV are correct d. L, IIl and IV are correct
LNeiTeU(BHLD LW (GHMISHHTET UTHSIWIMISETED FTUITETEN6UBHET 6T6n6?
[. 16wl LOTWID HeGTNID OCBTEWIL BUIBeND SHTT6ewfl.
II. Gmeasel HTHGH6T LBBID 2 U DL GSHENT60 DLETENE.
III. @measeaier U] 2 (Hauter LTedBUlmeT GUTBIHEH SEIDF GIBI.
IV. somaisHg  wem  alendsehld  auenTFFWmLbd GHBIHEG ol B CHmbmsHms

OB M6 (HEGLD.
a. SIMAGHHID FhGu b. L II wppd HI w @G g
c. L II wmpd IV wl @G & d.L III wip IV wl @G &
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130.

131.

132.

Match the following :

A. Ranthambore 1. Assam

B. Manas 2. Jharkhand

C. Nagarjuna Sagar 3. Andhra

D. Palamala 4. Rajasthan

E. Indravathi 5. Chattisgarh
A B C D E

a 4 1 3 2 5

b. 4 2 1 3 5

C. 1 4 3 5 2

d. 3 1 4 2 5

QUIT(HSHHIS.

A. 7eISHTIDLLT 1. &5TD

B. wmemerd 2. QMTH6uoIL

C. praniegeen gt 3. SUbAIT

D. umeowev 4. @ITEQer0SHT60

E. @bhalymeus) 5. FHBHENBIT
A B C D E

a. 4 1 3 2 5

b. 4 2 1 3 5

C. 1 4 3 5 2

d. 3 1 4 2 5

ECONOMICS

Which of the following programme aims at the promotion of savings among rural
women?
a. Jawahar Rozgar Yojana  b. Pradhanmantri Mahila Yojana

c. Rashtriya Mahila Kosh ~ d. Mahila Samridhi

Ueieumeueiaummlell TS L D agmoliys  waeiflar  CFulllieny  eadg@GallIusBaETs
DIMIDHBUILIL L FH)?

a. MeaanT GyrMasT GuimeleT b. tysrenohdf wdlemm Guireyeo

c. gmedl fuw walenm Carad d. wdenm gioflg)

Which of the following policy brings 5 lakh acres under organic farming?
a. Shrama Prasad Mukherji Rurban Mission

b. Pramaparagat Krishi Vikas Yojana

c. Pradhan Mantri Krishi Sichai Yojana

d. PM Fasal Bima Yojana

7 | Page www.appolotraining.com PH: 044-42867555, 24339436, 9840226187




133.

134.

135.

136.

S 2 6ilen H0FMeIMNE 5 L FID gHBT Hevmbenel Suimiend GouenTemienioullel &SLp
Osmewi(h aU(HEUSI?

a. WImDT UFamsd (pHTegl ehHiTL6T LOle1pest

b. ugbwmuyss sfad alarerd GuirTelett

C. Ugsmaiopail Sfad agdberomus Guirgiet

d. enb. urFed iom GuimrelentT

NREGA gives guaranteed employment for

a. 50 days b. 100 days c. 150 days d. 200 days

Cxpdw oags Goauemev euTUIILGHHIL LD, GCouenev o SHHgaunsHld SieMEGD BT Seiller
oT6NT6uN &N H

a. 50 BIL &6 b. 100 priser ¢ 150 mmiser  d. 200 BT &6l

When was the “Industrial finance Corporation of India” established in India?

a. January 1, 1950 b.July1,1948 c.June5, 1951 d. May 1, 1950
‘OhHw CGFHTHD HHESeED’ BhHwmaled eliouTpad gBUBSSILILLSI?
a. ereufl 1, 1950 b. egemev 1, 1948 c. agreir 5, 1951 d. G 1, 1950

Which is the biggest nationalized enterprise?
a. Bharat Sanchar Nigam Limited

b. Indian Post Department

c. Indian Railways

d. Oil and Natural Gas Commission
WslCuflw CUTEHISSHIMB HBleueTD 6157

a. L.eterv.ereir.eted (BSNL)

b. @bw oiehged siewy

c. @bgsw BruievBeu FHiemm

d. eremiQemtul erfleumuy MSmieueTiD

Golden Handshake Scheme is associated with

a. Establishing joint enterprise

b. Inviting foreign companies

c. Private investment in public enterprises

d. Voluntary retirement

SHHIH MHBGHVGGHID HULID DHIL 6T OHTLTLEDL WIS
&L (B HBICUATHIGM6T 2 (HEUTEEHED

OouelBTL(h HBICUETHISEm6T DIENLDEFHED

OI&F Hpleuemiseied SHelwimT (1p5H680H

. allplu guiey

an o
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137.

138.

139.

140.

141.

Which of the following scheme has the objective to skill 1 crore youth in the next
three years?

a. Start up, stand up

b. PM Kaushal Vikas Yojana

c. MNREGA

d. Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Leiteu(pld 61bdh SHLLID DIBGHD cpiipl SpenibHelled e Comg SemenehiTdeilen gHlme
GuobuT 19BsTe @ (HeuTdhSILL L &I?

a. GOLMTL I, eOLTEIL iU

b. .enb. Gamengev alammerd Guirelesrm

C. 6ILD.6T6oT. YT.6).03).61

d. Seswmer o _urdHwmul @Symoer Gsenageoul Guimegeon

Which among the following industries generates invisible exports?
a. Fishing b. Tourism c. Jewellery d. Handicrafts
LelreumeueouBmle LeolLL TS egmpingdlenwl CamBpialliLigi

a. ey OHmpev b. sBmieoT S

C. gLgent GHmPed d. aalameaICILTHL_SBeiT

As per 2011 census the total urban population in the state of Tamil Nadu is

a. 27.48 million b. 34.95 million

c. 36.04 million d. 42.50 million

2011 w&H6T CFHTmd HewidboBBUIIE Ly SODBTL 1960 BHBTUB LDHH6T CHTmsd
a. 27.48 106vedluiest b. 34.95 106veSuiest

c. 36.04 106065 utesr d. 42.50 19eveVluiest

Which district of Tamil Nadu produces the highest output of food grains?

a. Villupuram  b. Cuddalore  c. Thanjavur  d. Nagapattinam

SODBTL 1960 61HF LOTOIL L SHFH60 2 _awIe] SHTENULBIGET DHFBOMS 2 BUSHWTHBSI?
a. el(priyib b. sLeumi C. HEHIFTUT d. BraiuL e

What is the aim of Pradhan Mantri Gram Sadak Yojana?

a. Provide all weather road connectivity

b. Provide all weather to telecommunication connectivity

c. Provide food security in all seasons

d. Provide education to all people

“Ursw whHfl Sgmo gLrd Cummert” SHLsHlear Crrobsd (GBbCHTer) 61g?
a. SIMRAUHEGID DIMDIHFH LIHoY HT6URIGBEHHGHID FTEN6V UFHHM6N  DIHLDSHFH60
b. Oxmemev OFHTLITL UFHBM6NT HIDRHH LI(HeU BTEURIBEDHHEGD GBL DIEWLOSHH6V
C. QIMAHFH L(HoY HTeURIGBTNeVID 2 6wiey LITHISTIL 6Fu1gHe0

d. ere0Beun(rE@ Heval auFd gBUTH GFUIHED
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142.

143.

144.

145.

146.

National Agricultural Policy aims at a growth rate of % per year.

a.3% b. 4% c.6% d. 8%
Cxpalw Gouenment OBTeTeNSWTHIHI 1WI(BHDHE gFHeisH euenTFFenw GBTéHsLons
Osmemi(heiTen .
a.3% b. 4% c. 6% d. 8%
BOTANY
What is phototropism?

a. movement of plants towards chemicals

b. movement of plants towards light

c. movement of plants towards soil

d. response of plants for day length
Gum’_GLm_gmiierod 6T63IMBTeL 6T6vT60T?

a. Geyseaier Goug GuTmeT CHTHSIW Buidbsld
b. Qayseier qaf GHTSIW Buidbsld

C. Ogyseaier wenr CHTHSHW BuUIsLD

d. Qsyseien @efl smTevdha elene

In higher plants the saprophytic phase is formed after growth and development
of the zygote. Point out the type of cell division involved in this growth.

a. Mitosis b. Meiosis c. Amitosis d. Zygotic meiosis

2 W eumad SHraumiseier eoCUTCITemLILI19sh Hlemew mFCHTL 196 6ueNTFS LOTBBSHHTEL
® (HUTHBGH. 6D aumd OFed Llfley @0 GFweLHSBSH eaLmS GFillpdhaT (H?

a. emioL_LmenSlerd b. wimenferd

C. gLl LmenSlerd d. naBasmiigsh Wluwimenierd

Kuhne’s tube can demonstrate the process of

a. Fermentation b. Germination of seeds
c. Growth of plants d. Aerobic respiration
GeTery GWTUI 6hG HiBemal HlHLISEGWD?

a. GBETHHH60 b. aleng (LpewernddHev

C. HTAUT GUETTHS] d. stBpienLw seurdldhgHe0

The crop which gets affected by pink ball worm is

a. Banana b. Wheat c. Mango d. Cotton
Benehdleuliy bl Ljpeumed UTHdbaslup Lullir
a. eUTenLD b. Gsrgienio C. Lom d. umsHs
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147.

148.

149.

150.

151.

152.

ZOOLOGY

A preparation of living (or) killed micro-organism (or) viruses used in prevention
of diseases through immunization is called

a. Toxoid b. Vaccine c. Viremia d. Anti-toxin
o uflmeiten (o) o2 uilgmm Hiewienlw o ulflomiser () eauFerdHemen B 2 L 6VleDI6l
Ceashd BLEEG aFHTIY FhHmw o (HaUTHGISHBE 6leten GLwiT?

a. Lmsbamuif b. s@ULS c. alfiblwir d. edr-pFa
The source of energy in any eco system are

a. Osmotrophs b. Autotrophs

c. Lithotrophs d. Heterotrophs

GLbplemeouluiedel BMeVled (LPSHBU DLHTJLD
a. oLeBT wewiLeod b, oy GLT 106w 6VLD
C. @aifl LDEWIL 6VLD d. GeueuGeum DG 6VID

The Acid Rain destroys the vegetation, because it contains

a. Nitrates b. Ozone c. Carbon monoxide d. Sulphuric acid

IOV  EMPUITRIHI DIWTHSHI SHTEUTHMSUILD DINSHGD SHETDIOLMLUIH] 6160160 DHIFH6D
SILEIFH 2 _6iTemenel

a. eopl Gy b. @Bsmer c. &niuer GTeITbamF([H d. Feoriwyfé oudevtd
PHYSICS

1 Femto is equal to m

a. 10 b. 1015 c. 105 d. 10

1 QubGLr (Femto) = WL LT

a. 10 b. 10-15 c. 105 d. 10

What is the value of gravitational field at the centre of the sphere?

C. GTM d. -GM /r?

Gamemy Yeiterll emowihHFHled L@uTiiiy LeosHler gl wmg?

a. &P b. % C. @ d. -GM /r?

a. zero b. Mr
G

Which of the following is sensitive to ultrasonic waves?

a. Man b. Bat c. Bird d. Fish
Cxpenm gellenl 2 ewi(hD HETMID WM(HHE 2 _6iTengl?
a. Leigen b. Geuermeured C. LBem6Y d. e
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153.

154.

155.

156.

157.

158.

What is the basic concept of Raman effect?

a. reflection b. incoherent scattering

c. coherent scattering d. refraction

gmoes alleneney 6hdH HHIHIUHMS QLI WTHSH OHTewTL g7

a. ygluedlii b. @ddevevr @ef&FdHmed

C. 55 @eNFABB60 d. gefl alevsed

CHEMISTRY

Which one of the following is the correct composition of Brass?

a. Cu -50%; Sn - 50% b. Cu - 60%; Zn - 40%

c.Zn -70%; Sn - 30% d. Fe - 40%; Ni - 60%

SpHHemILauBpled L1dHHemenuier Fflwmer o Geomddbsevemeuuls FHaiHlD eTeTenn?

a. Cu -50%; Sn - 50% b. Cu-60%; Zn - 40%

c.Zn-70%;Sn -30% d. Fe - 40%; Ni - 60%

The Epsom salt which is used as laxative is

a. MgSO4 . 7H.0 b. CaSO, . 2H,O

c. ZnSO; . 7THO d. CuSO;, . 5H,O

eVLD @eMSHWITS LWL SHanlgUl 6ILIFID 2 L] 6157

a. MgSO, . 7H,O b. CaSO; . 2H,0O

c. ZnSO; . 7THO d. CuSO, . 5H,O

What happens in the reduction process?

a. loss of electrons b. gain of electrons

c. loss of hydrogen d. gain of oxygen

Rb5d alemeatulled oL aUBmled eleieT [HlEHLDSMBHI?

a. 616VGBL_JTeiTE6IT B)IPLIL] b. et6081 JT6IIH6T 6Ji3L

C. MABL Je6s @IpiiL] d. eysbenfizger gy

Galena is the ore of which of the following metals?

a. Silver b. Lead c. Gold d. Iron

&60RT GIaILIG SlpSHHemiauBpled 2 eiten 6lhdH 2 GeunedHHler HTHIIGLITH6IT?

a. Geueiter b. &mfuwib C. HHIBLD d. &by
GENERAL KNOWLEDGE

The concept of Goods and Service Tax (GST) was originated from

a. Canada b. USA c. Britain d. Germany
QummeT B CFemeu eufl ereiUH 6HBTL 1960 BHmepsluig)?
a. eI b. ©0wlss mbHw BTG C. LML Lot d. Gegrioe
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159.

160.

161.

162.

163.

Which of the following agricultural commodity of India gives largest interms of
export value?

a. Tea b. Basmathi Rice c. Spices d. Cotton
LNeitau(pd  eTelBouenmemionto © _MLGHEH @bhHwmaleasr DIHSTET  gBmInd U
HHSDBSI?

a. Gxuilemev b. uredingd) oifld c. poioewr cpligser  d. LBSHS
Name the dam constructed across the River Sutlej

a. Hirakud dam b. Bakra Nangal Dam

c. Kosi dam d. Mettur dam

Fleovmy aumnilent GmISGs UL LI Beitenn Sienemtulledt GUUIT 6TevTeor?

a. adigT@L  Slenewt b. UGTT-HBIGBED DlenewT

c. Card) sjememt d. Gl BT oiememnt

Where was the first nuclear reactor of Asia established?
a. People’s Republic of China b. Japan

c. Taiwan d. India

S FU HEWILSHFH6L (LPHEVTOUSH Die 2 6160 6THIE Hipeul L gi?
a. IDbhBHeI FOIH  GQUITSH b. egriLimest

C. MSHEUTEH d. @pgHur

Black revolution is related to

a. Fish production b. Coal production

c. Crude oil production d. Mustard production
SHIL UJL & @ Henll 61 QHTLTLemL U]

a. 18e1 2_BLHH) b. Hevdsf 2 BuSHH

C. HFFT eTemiOerl] 2 BLS) d. 56@ 2 _BusHd)
Identify the mismatch.

a. White revolution - Milk

b. Green revolution - Food Grains

c. Blue revolution - Fish

d. Yellow revolution - Flowers

SHoumpnel QUT(HSHBHHMWHH 6w BLIGSHSH6LD.

a. Qeuewtentp Lyl & - LITG0

b. useno Yy - ® awie)y SHTeNWD

C. b6V Lyl &l - L5601

d. wehger Ly gl - L& 61T

13 | Page www.appolotraining.com PH: 044-42867555, 24339436, 9840226187




164.

165.

166.

167.

168.

The national fruit which is common for Phillipines, Pakistan and India is

a. Banana b. Fig c. Mango d. Jack
LellliemLiciterd, LIT&ler0gTe wBmId @bhHw Brhseler Gumgieurer GsHdluwl LD
a. euTem|p b. ©158 C. LT d. ueor
CURRENT AFFAIRS
India’s first bio-fuel flight was operated between
a. Dehradun to Delhi b. Dehradun to Mumbai
c. Dehradun to Kolkata d. Dehradun to Chennai

@pHwrailear  wpeHev o ulfl-erflourmer  alteid  Seualm  HHIWIGSEHSH ML Gl
BuISSLILL L G|

a. CLym@®e&r - GLeved b. GLyr@eir - (pLbenLI

C. Cugm@err - OBTELBSHHT d. Cuym@esr - GFeiene

In which of the following states, more number of people were affected by 2018
monsoon?

a. Kerala b. Assam c. Andhra Pradesh d. Megalaya

&SP o _eiter GTLDLOMHI60&H FHl60 2018 LI(TH6u LoemLpu T 6160 G LD 61T
LITSHILILBES 6iT6T 61T ?

a. Gaiyenm b. sievermbd c. obAHTITCsHaD d. Guasmeowim

In which city the first Nepal - India “Think Tank Summit” was held?
a. New Delhi b. Kathmandu c. Dehradun d. Kolkata

abpaEISH (WwHeo Gpumen BpHwir “Think Tank wrpr®” Hen CUBBE?

a. UsigeveV b. &rgioewi(h c. GLymBeor d. GsmevasHHT

The campaign to create awareness among children to identify sexual abuse is
a. Safety is in your hands b. Our safety, our rights

c. Save child, save future d. Child safety in police hand

uTedledl  SHISLBISHHEMEL SO WIT6ND  HTewl  GHhHSHHeMen, Cuwi el ewiTey ML
GuoBosmeteniiul’ L LFFgmyb

a. UTHIBTIL] 2 6T e»dbUlled

b. B urgETIY B 2 Meno

C. GWHMS UTHISTUIL 6IHTHTe0 LITGHISTLIL

d. @whmsd UTHSTL STAIOHIMB MBHUT60
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169. Match:

Tribe Region

A. Masai 1. Angola

B. Saami 2. Kenya

C. Kalinga 3. Philippines

D. Bush men 4. Siberia
A B C D

a. 2 4 3 1

b. 2 1 3 4

C. 1 2 3 4

d 4 3 2 1

QUIT(HSHHIS.

LILpBIE 19 UT6oTiT (€533

A. wamul 1. oRBsmeor

B. md 2. Qaedtum

C. ®s60misT 3. edlienLieiTerd

D. yst welsitsel 4. engLifwim
A B C D

a. 2 4 3 1

b. 2 1 3 4

C. 1 2 3 4

d 4 3 2 1

170.  According to 2018 - 19 budget report, India is at third rank in
a. Purchasing Power Parity (PPP)
b. Gross Domestic Product (GDP)
c. Agricultural Production
d. Foreign Direct Investment (FDI)
2018 — 19 @g mlewew oPldemall Ly Laeumbd eeuBmieT @bhAHWT  pIBILOL &dl60

o 6iTeNnghl?
a. UTRIGLD HWEIT FLoHlen6v b. Qorss o 6T (h o BLHS
C. Gouenmewt 2_MLISHS d. oppw Gy (WHeSH
171.  Which currency is recently added in the currency basket of IMF?
a. Japanese Yen b. Chinese Yuan
c. Indian Rupee d. Brazalian Dollar
BT B Brewrwd FlugHed IMF-a1 mrewiuis gnenLuied Gamdsii L gi?
a. muumefer Guies b. engemaler ujeumest
C. @b&Hw epuTUl d. IGyfeSwiest Lmeuit
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172.

173.

174.

175.

176.

177.

Budget 2017 has proposed as the front office for issuing passport in far
flung areas.
a. Airport b. Telegraph office

c. Post office d. Railway station

2017 pFplemev oPidmauled OCgTemev HMT LGHHeled SLOFFLB IPRIGUDBES
(PHMID DIVIOIGVSBIOTS DSOS BLILLL G 61517

a. @lomTeT [HeneoWID b. b8 SivIaIe0BLD

C. LT HeNEVUILD d. yensauewty Hleneouild

The facility announced for Senior Citizens in Budget 2017 - 2018 is

a. Aadhaar enabled smart card b. BHIM App

c. Shakti Kendras d. Pension Scheme

2017 — 2018 HFHBMeL DPBBHMBUND (PSHSH GHPLDEBEHHHTH DPOISSUILILL  IFS)
a. SLFHTHLET BeneidbBlIll L aoonTl. oIl b. 19.61&.8.61D. GFuwiel

C. 553 MIOWIBIBET d. guiendur & L1b

World’s first Block Chain Bond was launched by

a. Reserve Bank of India b. World Bank

c. Hong Kong Bank d. State Bank of India

o eudlar (pHev Block Chain usAHmad PlwalILGSH W eubid)

a. @bFHw fgirel aumIs) b. 2 & aumid

C. QUBTRIGTHI  GUMRIE) d. @pHw eroBLL eumid)

Metro Rail Service is available in

I. Chennai II. Coimbatore III. Trichy IV. Madurai
a.Ionly b.Iand IV c.land II d. I and III

QL Gym gulled GFemeu eugd o eitemn &L 1D

I. QFcitement I1. GasmuwibL g III. Hmsd IV. wgieny
a. I o @ b. I o G IV c. T @i IT d. IT w @ T

APTITUDE AND MENTAL ABILITY

Find the area of the iron sheet required to prepare a cone 24 cm high with base
radious 7 cm

a. 704 cm? b. 702 cm? c. 700 cm?2 d. 668 cm?

24 Qa8 o wyupld Sgusbs b 7 0F15 OsmemiL  gniby Swnfléss  CHemeuuwlment
BB HBLIQET LITLIL| SHIT6wIH

a. 704 cm?2 b. 702 cm? c. 700 cm? d. 668 cm?

The sum of the series 31 + 33 + ....+ 53 is
a.729 b. 341 c. 504 d. 604
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178.

179.

180.

181.

182.

31+33+....+53 ee0iB QOFHTL_MeT FnBH6O 6l6dT601?
a. 729 b. 341 c. 504 d. 604

At what rate of interest compound interest per annum will Rs.640 amount to
Rs.774.40 in 2 years
a. 8% b. 9% c. 10% d. 11%

AWIBH LB eullpuled eIl  FHAIHHHMBE (5H.640 eIH DIWIBH  SLeNI(HSH6N6D
(h.774.40 &LGD?

a. 8% b. 9% c. 10% d.11%

A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent

a. 315 zm? b. 3097.5 = m? c. 2782.5 7 m? d.2997.5 zm?

QH gFTHHe0 SLATIOTOIH 3 15 o wjpeTen o (henemule & &bl DIeOLDHSTH
GumeliB  aUYeUSHIHIGTENSI. DIHAT Dlgliihbsd Qb  52.5 15, gwbller FTuwgd 53 1S
aTellen, SIBFnL D DIMSHHSH CHemeuwimenr HeHmen Hlewluller LFlmLS HeoTshd BHSH

a. 315 zm? b. 3097.5 zm? c. 2782.5 zm? d.2997.5 zm’

Six men working 10 hours a day can do a piece of work in 24 days. In how many
days will 9 men working for 8 hours a day do the same work?

a. 10 days b. 15 days c. 20 days d. 25 days

6 Semisel @b Geumevenuw! mHTOeMTeIRISEG 10 wewll GCBId Geouewev OFuIgH 24
BT H6Mle0  (PQLILIT. 9 oewisel, HTOeMTeIBISE 8 wewnl GBID GCouemev GCFUISHT6,
T5HHme BT H6160 HI6IGaImeLeDUI (LPIQLILIT?

a. 10 I ser b. 15 pBm sei C. 20 B _Hel d. 25 @B sei

A can finish a job in 20 days and B can complete it in 30 days. They work together
and finish the job. If Rs.600 is paid as wages, then the share of A and B

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

A e @m Gaimevenws 20 BT &Hefed, lo  eaiLeT 8% Galewevenus 30
BT Sellevd (linr. meurmd Caibg Geauemev OFUIZH, DieiGsauemevenut (WISl ¢H.600
& FHRIBET UHUTWTHL GBIt ereflsd A oBmid B &1 umig eleien?

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value
of x.

a.25 b. 24 c. 30 d. 26
18, 41, x, 36, 31, 24, 37, 35, 27, 36 eumpiest Fynam 31 eleiled X-631 O] 6TevT60r?
a. 25 b. 24 c. 30 d. 26
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183.

184.

185.

186.

187.

188.

9°x18* .

The value of e is
a. 2 b. 4 C. 16 d. 32
3 9 81 243
93;::84 &1 oG
a 2 b. 4 C. 16 d. 32
3 9 81 243
The cube root of 0.027 is
a.3 b. 0.003 c.0.03 d. 0.3
(0.027) i1 @6 ewpsvld
a.3 b. 0.003 c.0.03 d.0.3

Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

a.14 VE b. 15 UE c.12 VE d.15 VE
1ZA,3YB,6 XC,10 WD, ? aiei3 auflengenut mlylis
a.14 VE b. 15 UE c.12 VE d. 15 VE

The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a. 320 b. 1605 c. 1595 d. 8000

B eewideflen GQUBBHL OCFTensd 1600 BBID Dleweudbeflenr 15.6UT.eu 5 6Tedi6ed
oTewtabeifent 15.41.1D. LS LD.

a. 320 b. 1605 c. 1595 d. 8000

In how many years will a sum of Rs.1,600 amount to Rs.1,852.20 at 5% per annum
compound interest?

a.3 b. 4 c.5 d. 6

h.1,600 e 5% e Gl (B eully QiBD QBTENIH  THHMET  DLWIBH6I 60
¢h.1,852.20 &lenL &L

a.3 b. 4 c.5 d.6
Simplify
F(HBGSHD
(—Ej—{1+(gx§j+8—{5—l—l}}
3 3 7 2 4
a 22 b. -5 .54 4. 224
60 60 60 60
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189.

190.

191.

192.

Given the Pie Chart. Obtain the pass percentage of student who passed in 1st
class.

Passed in First Class
Passed in Second Class ~a

Passed in Third Class

a. 35% b. 30% c.10% d. 25%
Bbhs el L elendsll ULSHIHHSH  TewieUTHel  (1pHev UGl  CHiTsFd
CuBBeTHeGH al(HHTH 6160160 ?

_ W&o Lo Csiés
@ramLmb auGIID Gairéé :

Ggirad) Quprgeufisar

(y)drg)mb agudae Coiredl -
a.35% b. 30% c. 10% d. 25%

The principal amount triples itself at 8% per annum over a certain time. Find the
number of years

a. 20 years b. 25 years c. 30 years d. 35 years

om GEIILL oFotaid 8% el  aisHHe0  dHHmT  eu(HEelled eyl
LDL_BIBTGLID 671601  SHITedISb.

a. 20 GU(HLBIGHGIT b. 25 eumLmEeT C. 30 eumLBIBeT  d. 35 eUUBLBIG6IT

What number should be subtracted from each of the numbers
54,71,75 and 99 so that the remainders may be proportional?

a. 1l b.2 c.3 d. 6

54, 71, 75 1oBmID 99 6B 6UCGUT(T 6T6NIEMIL DID 61[HS 6TEITEN6MIH HLIHHTEL DIFH60T
BalD g0 alFHHH0 HBHGLW?

a. 1 b.2 c.3 d.6

Find the G.C.D. of #* -1 and 4* -1
a. a* -1 b. a+1 c. a®-1 d. a-1
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193.

194.

195.

196.

197.

198.

a® -1, i -1 Qe 15.0UT.6U. HTE0IH.
a. a* -1 b. a+1 c. a®-1 d. a-1

What percent is 5 grams of 1 Kg?

a.5% b.1% c.0.5% d. 0.2%
1 &Geor dymim@ 5 @gmbd % eresen?
a.5% b.1% c. 0.5% d. 0.2%

Area of a square is % hectare. The diagonal of the square is

a. 250 metres b. 100 metres C. 502 metres d. 50 metres
RH FHITSHI T LFLILIeTE] 2 JHHIT, 6160 FHTHIHT cLpenevaill L LD SYGLD.
a. 250 8L b. 100 18U LiT C. 502 18U LiT d. 50 L

The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in
the ratio

a.27:75 b. 27 :125 c. 81:625 d. 729 : 15625

A GCamemmisefler LBLUTLUTaSET 9 : 25 6B alSHHHe0 2 6iengl. DleuBmler Her
SleneHeiflen aildlHLd

a.27:75 b. 27 :125 c.81:625 d. 729 : 15625

Find the difference between simple interest and compound interest for a sum of
Rs. 8,000 lent at 10% p.a. in 2 years.

a.Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100

h. 8,000-b& 10% eu'ly aindHed Byawih SewIHHeMNed B HGD (B I 19&HGID,
Sl ULIHGLD 2 66N AGHGHUTFSHMBD HTEWIS.

a. em. 70 b. em. 80 c. ap. 90 d. ep. 100
If a+b=b+c=C+a=k,thenthevalueofkis
c a
a.0 b.1 c.2 d. a+b+c
a+b:b+c:c+a:k cefled kit 0y
c a b
a.0 b.1 c.2 d. a+b+c

The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, then the
number of girls is

a.15 b. 20 c. 25 d. 26
QH UGLILTN6L LOTewTaUTSH6NT, LOTewIalWTEHeT aldlFHd 4 : 5 TenieuTsHeNen 6lewTemnldband
20 eleolle0 LomemTaNUIT6H  6T6u0T6001 b6

a.15 b. 20 c.25 d. 26

20 | Page www.appolotraining.com PH: 044-42867555, 24339436, 9840226187




199.

200.

A man sells two wrist watches at Rs.594 each. On one he gains 10% and on the
other he loses 10%. Find his gain or loss percent on the whole

a. Loss % =90% b. Gain % = 5%

c. Loss % =1% d. Loss % =7%

B MBEBYITIRIHET QelCUTEImBUD H.594-5& @heuT alBmmT. @6leurTm alBBaed
10% @®evmugpid w@Bmaed 10% BULIPD DUBHEGH GBULLSL GOTHHHH0 SIeIHBES
gBULL ST 8I6LVH BLL FHAIHID HT6HISH.

a.pLL gsaisbd =90% b. Beuru saisbd = 5%

c.plL gxaisd =1% d.plL gzeisbd =7%

Simplify: M

(24 )'2 %34 %472
a. 7% b, 7% c. 6% d. 6%
@)
5’[@8’)@&3: (24 )_2 x3_4x4_2
a. 71 b. 71 3 62 d. 6§
9 8 9 8
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